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First Year Higher Secondary Improvement Examination

Part - I11
STATISTICS
Maximum : 60 Scores
Time : 2 Hours
Cool off time : 15 Minutes
/ General Instructions to Candidates : ' \ \
® There is a 'Cool off time' of 15 minutes in addition to the writing time of

2 hrs.

® You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

® Use the 'cool off time' to get familiar with guestiions and to plan your
answers.

® Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.
Y Y

When you select a question, all the sub-guestions must be answered from
the same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions 1s also provided.
‘Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hali.

mldeguoeRad:
® 1Idgis MowEDin ahoea 15 alalg ‘@) eoad ease’ 9enE0Widleso.
6D (AWET SoI0G)ERREE HOMRO ag)FATIEMD, ORISSI000W] @D
aflocfla@o MSEDIEMI alosSlgl.
® samosrd ageMEilad ayml 3aloe)EIBEM (BELdANBAI cuowflensmo.
ag)Rlo BaIOBYIBRENe HEMWO ag)FI®emo.
® &0} C20E)NMUD HEMEOAYI®IM H®OEETHSIED] £ oD@ Hal
€210RyETBRJ0 @RE® €2103) Mm@ aflom @em ODOORETITSELOENS®OEN.
®  HoMeS BSRIGR, 2N@BR, (oanE:®d, ag)ilal OEMOGala]GEDEM
pencowfialeasmo. : :

® @D TUOLIFTH TVBAIODNEIBHRD OB0SIBHEMO.

® Go0EymD neIWIsETiele MRS,

® GIOWONEGD H2IGIMIBOTTD BOMSOERIROILD B 10BHWISs B80)

K EDEIBSBIS OIS D ldemaLo aldlemoanosld Sale@ousldinior alosly. /

KR-37 1 . Turn Over




4120

If geometric mean and harmonic 1. eemy moaysmaws emyonsles dlm,

mean of two numbers are 9 and anodeaoaTies dld agmilas wLno(d@hmo

8.1 respectively. then the 9, 8.1 apemmld, @eemnaglont

arithmetic mean is ........... BB i ADBRIOM

a) 8 a) 8

b) 10 b) 10

g) 17l ¢) 141

d) 7.29 (1) d) 7.29 (1)

Following are the scores 2. (loin-0e, gogimlemioq 4

obtained by Greeshma in four al@losiadldd aidla) miesonesoem

test papers of Statistics. 2Jj0les @mialeeima.

65, 72, 58 and 77. 65, 72, 58, 77

a) What are the median and a) dlawlem, old (ee0iew
mean scores? a0 ?

b) If she scores 70 in her next b) avs;am aidleses @ead, 70
test, does her mean score Wew:0d smsioamled eages
change? If so, find the new dllid @s808 al@yomeg|siens?
SeOLe (2) COERHMEWEIT a el miesod

BENSOOD . (2)

a) If X=28 which one of the 2. a) X=28 copeanmld wooev
following will be minimum? oM@ aprale dyoal
i) Z(I—zs)z oR®oWlaleeo?

' 2
i 1) x—28
i) Y (x+28)° 2.(x-28)
11) x+28
iii) ) (x+30)* 2
i1 x+30
iv) ¥ (x-26)" (1) D 2

b) The average menthly wages iv) Y (x- 26 (1)
of workers of two factorics A b) A, B agor ano&rsoléeglael
and B are given below. omoleloglmaes weound il
Obtain the average wages of Saimmaos. Agaies. mavisiesil.

oeE and&soldgles o
all workers taken together. (3)
amovlangleains  ammlayss
ROOVDE! BOIMMO B06M)d:, (3)
=" .
Factories
Item :
A B
No. of workers 100 120
Average monthly wages 15,000 T 16,500
|
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4. Calculate the mode from the

420

4. ©00¥ 0L0s)TIdeNM WORWINS

fnl.lowing' data. 5 5) GO 61801518868, (5)
Marks less than | 10 20 30 40 50 60 70 80
No. of students | 15 35 60 84 96 127 | 198 | 250

5. a) Which discipline is closely 5. a) ogemy  afl@momuoaiwosm
related to insurance sector? OBayodm  caalsw0ow]
i) Bio-statistics @Sy, eMLeSldlanMa?
i) Agricultural statistics i) enieo gogimiesmy
ii1) Actuarial science i) @elleoBdalond mogigdlesm’
1v) Statistical quality control (1) i1i) @D dwd Wb
AR iv) @oglaylendd &)081g]
b) Write a short note on NSSO. (2) o @
b) NSSO em seydlal ecey @ydla]
BRYIOIHE) . ] (2)
6. a) Which one of the féllawing is 6. a) @oey aowymawid A, B
TRUE for mutually exclusive agil ayralefl agasmgailal
events A and B? W DAURGRES NIV
iy P(AUB)=P(A)-P(B) aga?
ii) P(AUB)=P(A)+P(B) i) P(AUB)=P(A)-P(B)
iii) P(ANB)=P(4)-P(B) ii) P(AUB)=P(A)+P(B)
iv) P(AUB)=P{4)+P(B) iii) P(ANB)=P(A)-P(B)
-P(ANB) (1) iv) P(AUB)=P(A)+P(B)

b) A box contains 40 -P(ANB) (1)
nondefeotive and 10 b) eo) owuguid 40 mgmp 10
defective mangoes. Four EESIAINDROW BOTIERD DENE.
mangoes are selected at 4  oo@BsH®  0OMDWAIY
random. Calculate the SECOTIDSIOD, 6gOT :
probability for : e E

: 1) aggoo MR®OGIOMD
1) all are nondefective £ _ e :
' i1) ag)gioo CHSIUMBOBUOMD
ii) all are defective (2) 988 (Mo@IOUY®
ey 1008 (2)
KR-37 Turn Over




Answer either question 7 or 8.

7. A, B are two events of a random

experiment.
If P(A)=0.3
P(B)=0.2
P(A‘B.):ﬂ.l
Find the probabilities of the
following.
a) At least one of the events
occur.
b) Exactly one of the events
occur. .
¢) None of them occur.
OR

8. Let A and B are two events
connected with a random

experiment.

1 "

If P(A) ==,

P(B)== and

5

P(Aor B]’:%-, find

probabilities of :

a) P(AandB)

b) P(Aand notB)

c) P (not A or not B)

(Hints : AorB=AUB,
Aand B=ANB,
not A=A°,

not B=B°)

KR-37

@ |

(3)

G IO,
7. A, B agmias eey codbave aldlesien
P(4)=0.3
P(B)=0.2
P(AB)=0.1,
og) 1@ @IOYaIOWIMAID6S
a) aneedwe
oeaflesaion.
b) @ymymomgo
MosAlieaaion.

|y

a0, o

€) Q6B Mosa

mgd!ﬁ

8. A, B agmias ey ooiave aidlesem

an@ow! sumweqslelenym e
soUBSR @emMideons.

P(4) =

P(AorB)=2, apwoat

a) P(AandB)

b) P(Aand notB)

¢) P(notAor notB)

DAUDS WoEAL® mo_ﬂs’]ma&

(ﬂb;.n.lm AorB=A UB

not A=A°,

paf
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g,

10,

11.

12,

a) 9

a) The mailed questionnaire

method of enquiry can be
adopted if respondents .......
i) live in cities

1) are literate

iii) are illiterate

iv) have high income

b) Classify the following data as

discrete or continuous.

i) Number of pages of books.

ii)' Lifetime of electric bulbs.

111) Numb-er of children in
families.

iv) Temperature recorded in
different days.

You are going to start a new
Yoga Centre in your locality.
How will you collect the
information through Focus
Group Discussion (FGD)?

In a systematic sampling, the
first unit in the sample zelected
is the 6" and the sampling
interval is 10, then the third unit
in the sample will be .... unit.

b) 16%

c) 26" d) 10%

How will you select a sample of
households from a particular
multistage

state using

- sampling?

KR-37

1) |

(2)

@)

(1)

(3)

9.

11.

12.

mleveud

a) 9

c) 26%

@EMja¥emMo  MSEmIN @l

@ausomllensmensl@ pEmeo

QST R oYX S '

i) muosegdld® @oamienmad
apdlensmo.

1) moeued eowidensmo

111) cflesxed @@Qlemo.

iv) g@dm QIE@IMo
HBBOIROEEMo.

b) moe¢ alowym awog allmilely
aneg sl @esimym’ apw]
DO BB . ‘

1) apmimeasdlen Galmea1es
AGmo: :

il) edSle  mdmsalns
@RWD eecdealo.

111) S5 06nu6mBE08 - 815158165
“g)émo.

1) afloflw dmensgdlel soaleq]sy
ol §vadmoal.

. mMlamBaes (aIeBRED 80) al®lw

BROMEH((Bo MYSEBIM Galddh)m}.
6000695 (jq] albaielejes (FGD)
apemem  aluoasd
cuRaIElea0 ?

ary migaogles momfiglowia,
@leaemmsiem momilglea  @oa)
wemlg 6-oaem@ye momilglowy
anemoo 10 9o @B&My. ag)anod
momiglea aymooeem w@emlg

b) 16t

d) 10

adglegyed mom Iglewy @emimuadle] aoy
MoMOIMADINE  HISIoMIMBSINS
oomidd ag) B e Mm
HmOOETNSIB60 ? ;

il o (b

420
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(1)

(2)

(2)

(1)

(3)
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13. In a set of values, highest value
is 40 and the range is 28, then
the lowest value is ............
a) 68 b) 12
c) 52 d) —12 (1)

14. Find the Quartile Deviation
(Q.D.) from the following table. (3)

420

13. em @yg0 alasdld agpap @i
allel 40 o @RmMEe 28 o ERWIG
ARAOI0 BI0TH ONBI i

OS]
a) 68 b) 12
¢) 52 d) —12 (1)

14. moey esosyewidenm alglewlad
mlmie &pdeegd alaflewauad
(Q.D.) ®osmye. (3)

! Age (in years) 15 16

17{ 18f_ 19 | 20| 21

LN o. of students 4 6

12 9 4

N

| 10|!| 15

15. The mean of a frequency
distribution is 50 and coefficient
of variation is 28%. Then .........
will be the standard deviation.

a) 14 b) 25
c) 178.57 d) 56 (1)

Answer either question 16 or 17.

16. Given below are the wéights of
9 students of a class. Calculate

- 15, eaw) @ociyeni cllmosmonfeq dd 50

80 e Wladl vy @oad eaidle@anmd
28% &0 WM.
cgEld gomeawdn’ aflalemand

........................ eRdlenie
a) 14 b) 25
c) 178.57 d) 56 (1)

eaioayemed 16, 17 @ eaimy ao@e semes

2G) 0.

16. a0 gomiea 9 eydleaes coonoe
apales emmildlenyma. dlaulwald

the mean deviation from the mimyaiae  ald  adlafleaumd
median. ' (5) &n6nEia 161066, (5)
N
Serial number | 1 2 3 4 5 6 7 8 9

Weights (kg) | 50 | 52 55 | 57

60 61 64 65 67

OR

17. Calculate the standard
deviation from the following

@6 gysss|wd

17. ey esosyamiclenim wogafid
mlomgo guomdewdal’ alalle@asad

data. (5) 6180115106165, (5)
Height (in cm) | 95— 105 | 105115 115 — 125| 125—-135| 135— 145 |‘
No. of children 19 23 36 70 52 ‘
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18. a) Study the following figure 18. a) moey asmosyawidlenym all@o
and answer the questions am Qa0 aijoes
given below. OB0S)OTIBIEHIMN  E2UORIEIBUDLE)
A DAL OBs.
60 +
‘E =
T O Cricket
=T
i B Hockey
s T N
T N Foot ball
> 20+
10 +
'! School A N
A i) Write the name of the 1) eloanloR ealoorme.
figure. 11) o)™ S1eB anlSeenion
11) How many students play Sy’
foot ball? 1) ag)(® &SleB  ean0se)
iil) How many students play (SRgleaimy] ;
Hocky? iV) a@ Helwoem  afRQile
iv) Which game is played SO Hgleoma’? (2)
most? (2) b) ®moey §w:051@m1 @060
b) Draw a histogram from the awogei@ mlomie adlmiegowoo
following data. (4) QURHE>. (4)
i
Profit per shop (Rs.) | 0—-50 | 50 - 100 | 100-200| 200 — 300 | 300 — 400
Number of shops 120 -\ 180 540 600 170
19. a) The data based on different 19. a) omyeiea aflaflw momoom
states of India is an example BO ARSIUOOMMOSLEWIES (g
T+ < T S e :gsamﬂm'immwm
_ ' HE0OMEMAIE.
1) geographlical 1) emyooadlendd
i1) chronological 5 o
iii) quantitative o) uncies Aoy
1v) qualitative (1) ?n) &pmcggﬂiu
b) A study tour was organized 1v) sjogdleggial (1)
by a school in which 100 b) soy waygldd 100 ewd
persons took part. Out of SHDINSION [l e e DURISUD
them 80 were students and muosaisiaflaly, tm:wﬂm% 80 Gatd
the rest were teachers; out of ‘e’éiﬂ‘ﬂ'&o i m@wgg&;m&;
the students 30 were girls. ﬁaggn&'i.ﬁi%g&@m@ﬂm?:
Out of the teachers 8 were mwfgomu{fﬁ}m‘i 8 i nﬁtm‘;’l(ﬁ;cz
%adies. : Tabulate this DI, 570 ANCIORED o 0
infermation. (4) QIO RO (4)
-37 : Turn Over




20. a) If the value of coefficient of

kurtosis is greater than 3,
then the curve is ..........

1) Mesokurtic
i1) Leptokurtic
111) Platykurtic
1v) Linear

b) Calculate Karl Pearson's
coefficient of skewness from
the following data.

13, 16, 18, 1% 1820,:25, 20,
27, 28, 30

Answer either question 21 or 22.

.~ 21. a) A can solve 90 percent of

22.

problems given in a book and
B can solve 70 percent. What
is the probability that at least
one of them will solve a
problem selected at random
from the book?

b) Events E and F are given to
be independent.

P(E)=0.35,
P(EUF)=0.60, find P{F)

OR

A doctor is to visit a patient.
From the past experience, it is
known that the probabilities that
he will come by train, car or by
bike are respectively 3/10, 5/10
and 1/5. The probabilities that he
will be late are 1/4, 1/3, and 1/12,
if he comes by train, car and bike
respectively. One day he arrived
late. What is the probability that
he comes by car?

(1)

(4)

(4)

(4)

20. a) eeowfladlanyf @oad @degomsimd

oM@ alla, 3 emenod s O
@OEMBBIM, @SB ....ovvveeee..
@)},
1) O0eMedLe:
11) eelaleso @dgles
1i1) gjodfl endgles
1v) eflodlod

b) moevaiowym awog pelewoudla]
B0 allemend Ge0onfladlauf
@0ald MBI &ensalislonss.
13,1619, 17,:20, 25, 20,
27, 28, 30

ealonyemd 21, 22 @ earim; 20@o oEmeo
Qg VDB,

21. a) any

22.

ameesamlse  90%
eojoeymB® A &6 mldavorsmo
a_gt%moc.ﬁ& &flwe. B @ 70%
2ol0B\6IRE0. @) allrimda ol
mlomie otbawaow]
HMOOETMSOm 80} €2198J0
aimeslon aeod mldavorsme
O21QYPNIOMB] MoEIAY® ag)i®?

b) E, F ogorl poifued
SOMDWIOIBAUE @B

P(E)=0.35,

420

(1)

(4)

P(EUF)zO.GO.P(F) Boemyes.  (4)

@6 gyl ad

80) eWIH:SALs 80) srowleow
qadulesyaomens. 08l
eemietasglad  mlmmie @ewom
eISQIm, o, eaemies agrHowid
QUEIMBR MVeEIL® @LOO@:do 3/10),
5/10, 1/5. agymilsmemwos.
e, o, aaenies agyrrlaueiia
90als] edmes MoedIA®m
@no@ao 1/4, 1/3, 1/12 (els:00m06m.
8} diaime o eealdsl ag)emd.
a®sl@  £001@  aimlelenomies
MoBIOYD ag)(®?
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